Slope

Date:

Name:

Find the slope of each line using the XY coordinates of given two points.

= A

i Bty Sl s ety N o s Bty bt alt |
| | | | | | | | | I
1 | i 1 | 1 | i I
[ .4r_||y|_|||_||L_
i i i i i | - | 1
F=—d==4=-=F—-——=Tor¥- 1 —+—-—F—4
i i i i i > | 1
| | | | | N | I
r=a=-T--rTaT r-S—-1-"r-1
| | | | | | | | | I
e L4 Lo I N N |
_— | ] | | | | | ] 1
I I | I I I I I | 1
w = ™M N -+ - 4 on Jﬂ Ln
| | | | | = ! f |
=A== T="r=/a3- 75 r-/a=-rt-r-1
| | I | | | | | I I
L4 _L_ e L1 _L_1
| | I | L | | I I
I I 1 I~ I I I 1 1
i B B o et e P e e |
I I 1 I > I I I 1 1
bk Qb
| | I | ' | | | I I
i et SR 17 & S BN R B

~
N
= A
| s s St s Bty f 7 s s it ety |
I I 1 I I I I I I ]
A IS Y NN [P N Y O
I I 1 I I 4|_ I I I ]
| | 1 | | | | | 1 1
Fmd——t—=F———= F—d——+——F—4
| | [ amn) | 3|_ | | 1 1
| | i N | 2|_ | | | |
[ i ] =~ "T-r-
| | A | | | | 1 1“
R S S N — I Lmdeo bl
| i | | A | i | 1
A | | | | | [ [
W Moo o o .a“. rs
I ] | | | - f |
r~—a— -1~ ~r—a~— -1 vr~— TTTTr T
| | I | | | o [
AN Y Iy U RN Y . I P FY A ER|
| | [ | | T -~ o
| | 1 | | | | [
T||_||+||T||_||.n..FT-q%|+||T||_
| | 1 | | | ~ | [
e R e B T
[l
[ T T B [ R
T n T ST SR 1 s B R B

iy

= A

Y

|
|
| | | | | —~
| | I | | (90] |
F—d——t—-—F—-——= ]
| | I | | - |
| | | | | m |
| o i e I —-q
| | | | | | |
e L4 L _] LA _ 1L __i_1
| | ] | | ] |
I I I |
<G v >
| .4. |
r A T
| | I |
. L |_ _L_1
5 | | [
a, | | | |
= B =
o I I [
75) | | _
r aTTTTTrTA
| | | | I |
L ._.nu._ull_ll._.ll_lll_
~
<
= A
TEFr——-—1T--r—7
| | | | 1
| | | |
.4r_|||_||_|||_||L_
| | | | 1
rk——d——+——F—4
| | | | 1
| | | | |
3 i It i i |
| | | | 1
- R Y R Ep |
—_— AR i | | 1
A | | | | I
_ + o4 M T W
=1 | f J. |
CCTTT T
|~ | I ]
.. I Y A E |
[<5) I I 1 1
| > | I I
w.. e R
| | I I
qu = ! ~ [ 1
T r—aT T
| | | | 1
_._mul_lILII._.II_IIL

3)

| i Bty el s Bty Bl
| ] | | ] |
] ] ] ] ] ]
[ty Tt et i Tty i Wt S i
] ] ] ] ] ]
FedAm—t—— A== e = ——
] ] ] ] ] ]
| ] | | ] |
s Tts St sty oty ' it i i
| ] | | ] |
AN Y I A NN [N E N W
- | | | | A |
[ T N [ |
v o+ |+ o o\
-+ o+
| | | | | = 1__! 4 |
I e e i I B I
[ T N [ |
.. _|||_||.r||_|||_||.2._|||_|.\4, _1 ..
) T T T LI { | )
Q. [ N N !l ~ o,
F-d-—t——p—A—— - —-—o
= [ N I T N R =
[ N | | N~
w i Bty it sttt il ety It w
[ T N [ T N
Lol Lol 1L
~
O
= A
it Tontts st s Tttt £ iy Tt it e
BEEEEMNEREES
[ R e e By <5
| 1 | | ] -
A=t ——F———— N -
| 1 | | ] L —
] ] ] ] ]
s Ss Etd s Rty
] ] ] ] ]
O S o IS N
= | | | |
< [ N N |
R
i i
[l on} Sai el
| OD;_ | I
.. L [ R T ..
[<5) I 4 I I 1 15
o Lo~ ] Q.
o [ N =)
qu | | | | | qu
| I A I I
[ N N [ N R B
PR R Y T I S S

5)

v

www.softschools.com



Slope

Date:

Name:

Find the slope of each line using the XY coordinates of given two points.
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